
QUIZ

1. The Great Pacific Garbage Patch is described
as a plastic ...
a) mush
b) mess
c) mass

2. How many tons does it weigh?
a) 100,000
b) 1,000,000
c) 100,000,000

3. How much of the patch comes from land sources?
a) 8%
b) 18%
c) 80%

4. The garbage from land sources is ... into the ocean.
a) blown
b) dumped
c) washed

5. Since 2000, the ratio of plastic to zooplankton has multiplied by ...
a) 6
b) 8
c) 10

6. What is said about bisphenol A?
a) It reacts with the water.
b) It is released by decomposing plastic.
c) It finds its way back to the land.

7. Which one of the following is not a conclusion of the video?
a) The problem can be solved if we act responsibly as individuals.
b) Ocean garbage patches could be prevented.
c) One country alone cannot deal with this problem.

THE GARBAGE EATERS
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1. . . . . .

2. . . . . .

3. . . . . .

4. . . . . .

5. . . . . .

6. . . . . .

7. . . . . .


